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A Time tuven fos the body to reach the muximum height B, Time talen for (he body lo reach the rench
the gronnd e i, @ Titne taken for the body to make one comlite oscillation D. None of the these
The followin . are examples of simple harmonle motion except =3
A. Loaded tst-tnbe Moating in o liquid and set in vertenl motion B, A londed spirnl-spring set into
vertleal matiey C. Swinging pendulum boh B. A cir moving from » point A ta B on a strnight line
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C. Constant magnitude but p varylng divection, D Varying magnitude but o varying iirection.
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“.The Stuey of the guantitative relatlonship between heat wnd ollier foring of enevpy ia
A Internal enerpy B, Potentinl energy . Thermal equilibrium B. Thermodynamicy
ﬁ--\ process Ly which the temperature of the working substance (gns) reninins constani during {ts expansion or

Compressico is called
A Isentro: i process B. [sobaric process C. Isuchorie process B, Lsothermal process
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5. The follov. ‘ug are vector quantities except
&, Disptace neni B. Force C. Density D. Momentun
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